MEREREE (FoA—HRILEL)
WiE= XJLSRENI=vF |
2. %= PUZ-SRP112 - 140HA12 |
3. HHFHT (H158)
1NHBREE (BiEE) w=| 82 ke
(2)7vh—HKIL+
DA N 4 &
@44 X - ik =M 10
@1 ALY OEMERE (FRICKDHERE) A= 78 mm= | 78 x10°%m?
ORBEHEEABEDIIRY ZRTZHADT > H—KIL FOBAY N 2 K
(B ERELYBBELEFTOBS He= 400  |mm= | 0400 |m
4) BT BAAM S AR RIS L= 370 mm= | 0370 |m
()BT BAAMMLH=RIL FhDALEBELETOERE Le= 160 mm(Lg=L/2)= 0160 |m
4. BREHE (BEO/NMIAUT2MEBZEEREALTER)
1) REAAKERE Kh= 10 |
2)BEHSRERE Kv=kh/2=| 05 |
3) FREAKTHES Fh=Kh-W-9.8= 8036 N
4)EFAMERES Fv=Kv-W-98= 4018 |N
Fh-Hg-(W-9.8-Fv)-Lg
5)7 v h—HIL kD3l Rb= e = a5 N
8)7 U H—mRIL kDE AN Q=Fh/N=| 2009 |N
7)

FToh—RILMZETBIENE
@BIERENE

Qe AMIEHE

QBIRELAMERBFICZITHHE
f=fzL. fts’' =ftd & EFfts=fts’,

(8) 7 vh—hIL FDEIE
D7 vh—RIL ORI
@avyy—toES
Q@RI FDIEARE
@HABIREE

RILL(SSA00)DEFREIRIGA ft
<ft=176MPa
RILE(SSA00DEEBEAMIEA fs
<fs=102MPa

0 =Rb/A= MPa

T=Q/A= 26  |MPa

fts'=1.4ft-16 T = MPa

fts' MO & Efts=ftTHHNT  fts=| 176 |MPa
o= 45 MP < fts= 176 |MPa

a

= BEBTEERT VH—

=L 120 mme

=8 lmm= [ 0080 m

Te=| 7600 | N > Re= | 348 N
ULOBEERE YT UHh—RIL FEH DL EREERT 5.

¥R FOFBBAEE L VT oH—HRIL bOSIRFRSEFEL. FRERMIRRE - ETIRH2005FEMR)] 12&£ 5.

0.120 m

950
B X .
< > BLEIE
A
Hg= 400 pm
ya N Le= 160 mm
X= 580 mm
[ \| @ 3 _|e
| | :
L= 370 mm
&\ | oo
=
LT 600 [ ] v L
L
1 )

PUZSRP112HAT2-TSA



